Name: KQ,{,\J Quiz 5

The standard GlbbS free energy change for converting 3-phosphoglycerate to 2-phosphoglycerate is
1.12 kcal mole™. Within a fed cardiac myocyte, the Gibbs free energy change for converting 3-
phosphoglycerate to 2-phosphoglycerate is -0.14 kcal mole™.

1. At equilibrium, is{ﬁ:;f)hos_phogyceraigbr 2-phosphoglycerate molecule is more prevalent?

2. Within a fed cardiac myocyte, is the conversion of 3-phosphoglycerate to 2-phosphoglycerate
(unfavorablelor unfavorable?

31 W|th|n a fed cardiac myocyte, is the conversion of 3-phosphoglycerate to 2-phosphoglycerate
\_pwr nonspontaneous?

4. For the condition within a fed cardiac myocyte, complete the following expression:

[2-phosphoglycerate] = 0.1 _72 [3-phosphoglycerate]
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